C H I TA Assembly Manual

KIWOI19

Armless Chair
Assembly Manual

A CAUTION THISASSEMBLY MANUAL CONTAINS IMPORTANT SAFETY INFORMATION.
PLEASE READ AND KEEP FOR FUTURE REFERENCE.

Page 1of7



C H I TA Assembly Manual
KIWO19

Count parts before assembling.

AXI Bx1 7 Cx1
— eat Base — ackrest — eat Cushion Core l_|X4eat ushion Case
@ Oy Oy
— ack Cushion — eg KX;( mm o I_X]x mm o
= o O
= | € o o
@8x@D22  Flat Washer| M8 Butterfly Nut | #5 Allen Wrench Square Connector
Extra Hardware
=
O Oy, @ =

Please read through the instructions below to familiarize yourself with the
parts and steps before assembly.

& Do not start the assembly process until all boxes are present.

Page 2 of 7



C H I TA Assembly Manual

KIWOI19

ASSEMBLY INSTRUCTIONS
Step 1

Please lay all parts on a soft and smooth surface to assemble.

Take out the Seat Base (A), Backrest (B), vacuum-packed Seat Cushion Core (C) and
Back Cushion (E), Seat Cushion Case (D), Back Cushion (E), hardware pack and Legs
(F) from the Armless Box.

Cut the vacuumed bags carefully to take out the Seat Cushion Core (C) and Back
Cushion (E). Please allow up to 72 hours for the cushions to return to the original
thickness.

=29 H |
SR 111 W

Step 2

Place the Seat Base (A) and the Backrest (B) on the floor and black fabric facing you.
Unzip the bottom of the Seat Base (A) and attach the Seat Base (A) to the Backrest (B),
using Flat Washers (I), M8 x 70mm Bolts (G) and the Allen Wrench (K). Fully tighten and
Zip up the bottom of the Seat Base (A).

A~
\ N7
A ~
-
-
-
e~ - L I
| ~ |
=) = )/
N\ o _ \o/
B

Page 30of 7



C H I TA Assembly Manual
KIJWOT19

Step 3
Rotate the Legs (F) firmly.

Step 4

Remove the velcro protectors on the top of the Seat.

Page 4 of 7



C H I TA Assembly Manual

KIWOI19

Step 5

Insert the Seat Cushion Core (C) into the Seat Cushion Case (D).

Fluff the seat cushion and back cushion, and put them on the chair to complete the
assembly of your Armless Chair.

" "

Congratulations!
Armless Chair is ready!

Page 50f7



C H I TA Assembly Manual
KIJWOT19

HOW TO CONNECT

Step 1

Place the chairs side by side on the floor and black fabric facing you. Connect each
chair using M8 x 70mm Bolts (G), Flat Washers (l), Butterfly Nuts (J), and the Allen
Wrench (K). Fully tighten.

© |- 0|02 2 @

—
]

oo Gilo, 916

Step 2

Gently place the sofa in the upright position. It's best to have two people lift the sofa

- one at each end- and place it on its legs.

Attach the Corner Connectors and Square Connectors (L), using M8 x 20mm Bolts (H)
and the Allen Wrench (K). Loosely attach the bolts to get the alignment right rather
than fully tightening one before others. Once all bolts are aligned, fully tighten them.

Page 6 of 7



C H I TA Assembly Manual
KIJWOT19

PRODUCT WARRANTY

-1-year limited on cover against splitting, peeling, and/or tearing.
-1-year limited on frame construction.
-1-year limited on cushioning material.

CARE & MAINTENANCE

For non-removable areas:
Blot and spot clean immediately with a clean, absorbent cloth and a water-free stain
remover (Cleaning Code: S).

For cushion covers:
(P) Dry clean only.

BJI Do not tumble dry.
XX Do not bleach.
A Iron at low temperature (230°F/110°C or below).

Follow Us
ﬂ @chitalivingofficial G @chitaliving

@chitaliving @ achitaliving

If at any step you need a helping hand, we're always here for you. You can email us,
or hop into a live chat on our website - whatever method is convenient for you.

support@chitaliving.com

Page 7 of 7



